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MBA
PART -1
SECTION - A
PROFICIENCY IN ENGLISH LANGUAGE
Each question carries one mark. (25% 1 =25)
1.  Salman Rushdie is an author of origin
_(MyTndian (B) British
(C) American (D) Russian
2. Who had written the book "ignited Minds'?
(A) Vikram Seth (B) Dalai Lama
/(QJ’A.EJ. Abdul Kalam _ (D) Anita Desai
*3.  Who is the author of the book 'Argumentative Indian = Writing on Indian History, Culture and Identity'?
(A) Nirad C. Chaudhuri (B) Amit Chaudhuri

/(eyﬁnanya Sen (D) Arundhati Roy

4. Choose the word for the prefix 'fore’

(A) BID (B) ARM
(C) CRY \, (D) GIVE

5.  Choose the right word/fa é%; :
(A) UNDERLING : ‘g (B) ABOVELING
(C) BELOWLING = j,m OVERLING

* 6.  ldentify the figure of

King Richard was as bra
(A) Personification (B) Metaphor
(C) Alliteration. (D) Simile

Pick the word that denotes the profession:

«7.  Person who sells articles from door to door
(A) Seller - (ByHawker
(C) Shopkeeper (D) Caller

Fill in the blank with the correct question tag:

8.  Everythingis lost ?
(A) aren't it (B) are it
(C)isn't it (D) is it

9. All that glitters is not
(&) silver (B) Lead
(C) Gold (D) Copper
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Fill in the blank choosing the right option:

10.

11.

Ll

13.

14.

15.

16.

AT.

18.

"Formal Letter” is written to

(A) Friend (B) Uncle

(C)-The principal (D) Neighbour

Select the word that is closest in meaning to the word underlined in the given sentence.

Her views are not in consonance with her husband's

(A) in disagreement (B) in conflict
(C)yin agreement (D) contradictory
Choose the word similar in meaning to the Word Relish

(A) Realise (B) Taste
(CyEnjoy

’l; ey u"ﬁf"-" *‘J}j
'rﬁh eﬂiﬁﬁd\vg‘ﬂdﬁn the given sentence.

There is not a trace of vanity in her behavio Fe” a g;;\ A
(A) Proudness f = fﬂ‘};{%éﬂgﬁiﬁs ) g%
{C) Modesty f; (0) Digrity ", I
Select the antonym of the word exotic \ 3 ,// lf/ ‘
(A) Wenderful }B] Cp&fnupgjltaﬁ’ :

(C) Irrelevant #0) Common

Choose the word which can be substituted for the given sentence.
'‘Medicine given to counteract Poison'.

(A) Antibiotic (B) Antiseptic

(C) Antidote (D) Antifungal

Choose the word which can be substituted for the given sentence.

'Person who files a suit'.

(A) Charger (B} Suitor

(C) Plaintiff (D) Accused

Choose the correct meaning of the idioms given in bold (underlined) in the given sentence.
We should give a wide berth to bad characters

(AyKeep away from (B) Publicly condemn

(C) Give publicity to (D) not sympathise with

Out of the four alternatives suggested, select one which best expresses the same sentence in passive/
active voice !

*She took the dog for a walk”

(A):The dog was taken for a walk by her (B) The dog took her for a walk
(C) The dog was took for a walk (D) The dog took a walk by her

P-MBA
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20.

21.

22.

23.

24,

25.

P-MBA

Fill in the blanks by choosing the appropriate auxiliary verb from the options:
You ____to finish this on time because you have no choice

(Axmay have (B) could have

(Crhave (D) needn’t

Fill in the blank by selecting the correct pronouns from the options given.
"Taruna is the receptionist | have employed in my office.

(A) who (B) which

(C) whose (D)-whom

Fill in the blank with suitable preposition given belg,

"He was in a hurry and just glanced thel

(A) over (

(C) through (

Fill in the blank by choosing the correct word from

"The police asked the lady to her mask to check

(A) take over (B) take of

(C)-take off (D) take across

Select the most suitable alternative which conveys the exact meaning in accordance with the correct
grammatical rules

(A) Nowadays singing is a very profitable profession

(B) Nowadays the singing is a very profitable profession

(CyNowadays singing is very profitable profession

(D) Nowadays the singing is very profitable Profession

Find the correctly spelt word

(A) Acquaintance

(B)yAcquaintence

(C) Acquiantance

(D) Acquiantnce

In order to imprave the sentence by replacing the underlined word, chaose the correct alternaﬁve from
the given options.

"Mumbai is famous because of its textiles”.

(A) in (B) at

(Chfor (D) with
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26.

27.

28.

29.

30.

31.

32.

33.

SECTION-B
GENERAL KNOWLEDGE
Each question carries one mark. (25x1=25

Where is Roop Singh stadium located?

_{A) Gwalior ; (B) Indore
(C) Bhopal (D) Jabalpur
The current headquarters of IAAF is situated in
(A) Switzerland (B) South Africa
(C) Germany . _-{D) Monaco
The Independence Act was passed in

_{(A) July 1947 (B) June 1946 -
(C) August 1947
The multi-purpose project irrigating the m Ll;ﬁ
(A) Damodar valley project
(B) Bhakra Nangal

_{€) Hirakud
(D) Nagarjuna Sagar :
Indian Railways first introduced cumputerig‘iii}_r_g_sewatinn |n_f
(A) Bombay (B) Calcutta
(C) Madras __(B) Delhi
Which of the following institution / office bring out the Wholesale Price index (WPI) data in India?

(A) The Reserve Bank of India
__[B) The Ministry of Commerce and Industry
(C) The Ministry of Finance -
(D) The Ministry of Consumer Affairs, Food and Public Distribution

Which of the following promoted the concept of Self Help Groups (SHG) for financing the poor?
(A) NITI Aayog
(B) RBI

(€)' NABARD

(D) Union Ministry of Labour

~ First Olympic gold medal won by Indian Hockey team was at
(A) 1980 — Moscow
(B) 1964 — Japan
(C) 1972 - Munich
(D) 1928 ~ Amsterdam



34,

35.

36.

37.

38.

39.

40.

41.

Which venue is selected for 2024 Olympic games?
(A) Los Angeles —ABY Paris
(C) Sydney (D) Rome

Consider the following statement:

(i) The holders of the Bharat Ratna Rank 7th in the Indian order of precedence.

(ii) Sir M. Visvesvaraya is the first person to receive the Bharat Ratna Award.
Which of the statements given above is / are correct?

(A) Only1

(B) Only 1I

(CyBoth I &I

(D) Neither | nor Il

The Headquarters of U
(A) New York
(C) London

Parliament of Japan is known as:
(A) Congress (B) Senate
(C) Diet _(D)yMaijlis
Which of the following was the first Indian state to issue photo identity cards to its voters?
(A) Tamil Nadu (B) Rajasthan
(C) West Bengal _(D) Haryana
The period of the Twelfth Five-Year Plan was
_(A¥2007 - 12 (B) 2012 - 17
(C) 2010 - 15 (D) 2006 = 11
The standard of living in a country is represented by its ;
(A) Poverty ratio _{(BYPer capita income
(C) National income (D) Unemployment rate
Which one of the following is the objective of MGNREGA?

(A) To build assets
(B)'To encourage micro irrigation
(C) Water management

(D) To enhance rural income

N : i
( @‘H Which one of the following pairs is correctly matched?

(A) M, - Reserve Money (B) M, - Broad Money
(C) M, - Narrow Money _(DpNone of the above K.
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43. Which is India's first experimental satellite launch vehicle?
(A) GSLV (B) ASLV
_(eySLv3 (D) None of these

44. Cobalt 60 emits which of the following rays?
(A) Alpha (B) Beta
_(CyGamma (D) None of these

45. The first woman Chief Minister of Uttar Pradesh was
(A) Sarojini Naidu ' (B) Vijaya Lakshmi Pandit
(C)Sucheta Kripalani (D) Jayalalitha |

46. A famous social activist Medha Patkar is associated with which movement?
_A&) Narmada Bachan' Andolan
(B) Tiger Bachao
(C) Conservation of wetland

(D) Beti Bachao Movement

E\%)
. i
o il .t" 4

i
47. Who among the following personality is no aiﬁal:deq__Bharat Ratna?s ij;‘

(A) JRD Tata \ LN el

(B) Satyajit Ray A% z <3 i

(C) C. Subramaniam MU e
_{DYRaj Kapoor

48. The Global Goal Keeper Award is given by
__{&) The Bill and Melinda Gates Foundation
(B) The United Nations Environment Programme
(C) The Kellogg School of Management
(D) The World Meteorological Organization

49. According to which of the following Articles of the Constitution of India can the Parliament amend th
Constitution?

e Article - 368 : (B) Article — 103
(C) Article ~ 129 ; (D) Article — 234

50. Aishwarya Pissay excels in which one of the following sports?
(A) Badminton (B) Boxing
_(€) Motorsports (D):Chess



51.

52.

53.

54.

55.

56.

57.

03

58.

@

PART - 2
SECTION-C
TEST OF REASONING AND GENERAL INTELLIGENCE
Each question carries one mark. (25 % 1 = 25)

If16~-2=2,9-3=0,81~-1=8,thenwhatis64~4=7?

(A)4 (B) 2 (C)6 (D) 8
The letter group comes in place of 2 is

CAT: DDY:: BIG:?

(AyCLL (8) CLM () cML (D) CEP

Select the letter cluster that can replace the question mark (?) in the following series
KQG, JTK, HXO, ECS.

(A) BIV (B)AIW (C) AHW (D) BIX
Identify the number that does not belong in the given series 1, 8, 27, 64, 125, 216, 344, 512, 729
(A) 512 - (B)729 (C) 64 (D):344

Find the minimum number of straight li ired to make the given figure

(Ay13 (B) 15 (D) 19
Find the number of triangles and squares in the given figure

(A) 44 Triangles, 10"Squares (B) 14 Triangles, 16 Squares
(C) 27 Triangles, 6 Squares (D) 36 Triangles, 9 Squares

Pointing towards a boy, Ramya said "He is the son of only son of my Grandfather”". How is that boy
related to Ramya?

(A) Uncle (B)Brother *{Qmﬁ) (C) Cousin (D) Sister

Find the difference between 777 and its nearest perfect square number
(A) 4 (B)»7 (C) 27 (D) 28

P-MBA 9



59.

60.

61.

62.

63.

65.

66.

67.

68.

10

If P = 16 and TAP = 37, then CUP = ?
(Ay40 (B) 38 (C) 36 (D) 39

If in a certain code language 'FAME' is written as "LGGY", then how will "LION" be coded in th:
language?
(A) RHIO _(BMROIH (C) RHOI | (D) RIOH

Find the next number in the series 16, 20, 29, 45, 70, ?

(A)-106 (B) 116 (C) 96 (D) 126

A person moves 15km in East direction, then turns towards North and moves 4km. From here he turn
towards West and travels 12 km. How far and in which direction is he from the starting point?

(A) 31 km, South-West (B):5 km, North-East

(C) 19 km, North-East (D) 27 km, South-West

The difference between the ages of two brothers is same as the difference between the ages of the

father and mother. The age of elder brother is 25 years. At the time of the birth of younger brother hi
mother's age was 32 years. If father's age is 5 years more than mother's age, then what was the age
father at the time of elder brother's birth?

(A) 55 years (B) 32 years

.-.-...

Lo 4’.\\ (D) 57 years

d&
QQ;attem @}\ e missing character

The following set of figures carries certain ch
<

e/ T.,! %!! E:)g

5 % L e
@1s O (B) 55 ©%.." .= (©orso
if DELHI can be coded as CCIDD, how would you code BOMBAY?
(A) AJMTVT (B)-AMJXVS (C) MJXVSU (D) WXYZAX

Find the missing character among the given alternatives

3C | 2B | 4A
27TA | ? |64B
9C | 4A |16B

(A8 C (B)12B (c)16cC (D)18C

If area of a circle is equal to the area of a square with side 2./ units, what is the diameter of the circle
(A)*1 unit (B) 2 units (C) 4 units (D) 8 units
The population of a particular area 'A' of a city is 5000. It increases by 10% in first year, decreases b

20% in the second year because of some reason. In the third year, the population increases by 30%
What will be the population of area 'A’ at the end of third year?

(A) 5225 (B)}5720 (C) 4895 (D) 5560

P-MB.



69.

71.

73.

74.

75.

@

The simple interest on a certain sum for 8 months at 4% per annum is Rs. 129/- less than the simple
interest on the same sum for 15 months at 5% per annum. What is the sum?

(A) Rs. 2580 (B)Rs. 2400 (C) Rs. 2529 (D) Rs. 3600

In an examination, a student was asked to divide a certain number by 8. By mistake, he multiplied it by
8 and got the answer 2016 more than the correct answer. What was the number?

(A)252 ®)256 K
(C) 258 _ (D) 260

If Thursday falls 2 days after tomorrow, then what day of the week was it on three days before yesterday?
(A) Monday (B) Tuesday
(C) Wednesday S e (D)yThursday

In a gathering, sev

ﬁﬁ}m{; a row. 'C' is sitting left to 'B' but on the right of 'D' . "A' is
sitting right to 'B".

43 ;ﬂ%;na r:ght to 'E ﬁ:t‘}eﬂ to 'D". 'H' is sitting left to 'E’. Find the person sitting in

the middle. ALENT,

wye of : wn S/ @o

(C)E fi%; = \r \,;;.f, (D)F

If 15" November of 20 1S Wn_afinasday, what will be the d.‘:lyr on 27" October of 2003?
(A) Wednesday (B) Thu;;day (C)eFriday (D) Saturday

Study the following diagram and answer the following questions

Cricket ﬁ Hockey
4‘5"6
Football
Which numeral represents the set of persons, who play football and hockey but not cricket?
(A)7 (B) 2 (C)3 (D)6
Find the area of the shaded portion in the figure given below:
|4m |

30m
(A) 160 m? (B) 144 m? (C)<169 m? (D) 100 m?

P-MBA : R |



76.

T7.

78.

79.

Based on the data given on the followi

80.

81.

82.

83.

12

SECTION-D
QUANTITATIVE ANALYSIS
Each question carries one mark. (25%x1 =2

A, B and C became partners in a business by investing money in the ratio of ?E?':ﬁ. Next year, th
increased their investments by 26%, 20% and 15% respectively. In what ratio should profit earn
during 2" year be distributed?

(A)21:28:23 (By23:28: 21 (C)28:23:21 (D)35:41:7

10 men and 8 women can together complete a work in 5 days. Work done by a woman is equal to h
of the work done by a man. In how many days will 4 men and 6 women complete that work?

2 3
(A) 12 () 10 ©8% @9

The difference between the present a a and Shalini is 14 years. Seven years ago, the ra

rs : (D) 40 years Lf& g g

ed, the mean of the 6 numbers hecomes i

(A) 49 years (B) 56 ye aﬁ,

The mean of 5 numbers is 15. Sha |Tr! nwﬁs._

What is the included number? ol
(A) 24 (B) 25 '-'.E_. A ,.-;-._..'---.{-:qgt) (D) 27

"fﬁb}}‘answeﬁ& questions from 80 to 83

Data given in the table for the mont‘h-q[iﬂarﬁ_’z'ﬂb"g

Company Total Number Number of
of employees | Female Employees
A 5550 2410
B 3200 1860
C 2000 1600
D 2500 1220
E 4240 2600
F 3560 1240

The number of male employees in company 'D' is what percent less than the number of fem:
employees in company 'C'?
(A) 12% (B) 15% (C) 20% (D)22%

What is the difference between the number of male employees in company 'A’ and that in company 'l

(A) 840 (B) 810 (Cp820 (D) 740

If in April 2015, the number of female employees in company E increased by 10% and the number
total employees in the company remained the same, what was the number of male employees?

(A) 1430 (B) 1420 (C) 1410 : (D)«1380

The total number of female employees in companies B and F together is what per cent of the to
number of employees in company D?

(A)e124% (B) 122% (C) 125% (D) 134%

P-ME
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B84.

B5.

86.

87.

88.

89,

90.

91.

92.

93.

94.

95.

@

Find the median of the numbers 24, 36,46, 17,18, 25, 35
(A) 23 (B) 24 (C) 25 (Dp26

Find the area of a square inscribed in a circle of radius 4 em
(A) 32 cm? (B) 18 cmy? (C} 64 cm? (D) 25 cm?
The area of a rectangle is 4 times the area of a square. The area of the square is 729 cm? and the length

of rectangle is 81 cm. What is the difference between the side of the square and the breadth of the
rectangle?

(A} 18 cm (B) 2T em {C) 24 em (D)9 cm

A train 130 metre long crosses a platform in 30 seconds with a speed of 45 km/hour, then the length
of the platform is

(A) 2TO M (B) 245 M (C)280M (D) 296 M

The s.aiaries of A and B together amount to Rs, 26000/-. If they spend 75% and 60% of their respective
salaries and their savings are equal, then their respective salaries should be

(A) Rs. 15,000, Rs. 10,000 (B) Rs. 18,000, Rs. 8,000
(C) Rs. 20,000, Rs. 6,000 (D) Rs. 16,000, Rs. 10,000

gf-gg—' mﬁﬂmﬁ}j@-{&g letters of the given word. ADULTERATION

g ’-:r_ga}inmm

5 i . [ -EﬂELET

"E'I‘ Ta!’n! = ; v

“ti“i-' pasiti_nh_'ﬁf irst a_‘l;l:l_i'the fifth letters are interchanged, similarly the
8i :}'th h_z't'u!rs:_l_a;l‘;f.nin’tr r_ghanged and so on. Which letter will be third from the

Find the one word which can
(A} RELATION
(C) RETURN

#

If in the word 'EQUALIT
positions of the second aR

right end? N2 AR
Ny, ———

(&)< \f s 2 (Bu

(€)1 = DT

Find the missing term in the following series: APZLT, CQYNR, ERXPP, GSWRN, ITVTL.

R |
(A) KUUVJ (B) Kvuuy
(C) JUVUR (D) KVUVJ

Find the average of all the prime numbers between 60 and 90
(M) 72 (B) 74.7 (Cr74 (D) 73.6

A man gains 10% by selling an article for a certain price, if he sells it at double the selling price then the

profit made is
(A) 120% (B}20% (C) 40% (D) 100%

Find the area of the largest circle that can be inscribed in a rectangle of 18 cm x 14 em

(A) 49 cm? {B):154 cm* (C) 378 cm? (D) 1078 em?

The area of four walls of a room is 120 M?, The length of the room is twice its breath. If the height of
the room is 4M, what is the area of the floor?

(A) 40 M (B) 50 m? (C) 60 M? (D) 80 M*

P-MBA 13
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96. The given diagram shows the number of students who failed in an examm:t:c;r‘l :tﬂi':gg?."%rfaf is th:
English, Hindi and Mathematics. The total number of students who took the te

percentage of students who failed in at least two subjects?

English m Hindi
(1242

o/

Mathematics
(A) 8% (B) 8.4% (€)7.8% (D) 7.6 %
87. A man decides to travel 80 km in B hours partly by foot and partly on a bicycle. If his speed on foot is
8 km/hour and on bicycle is 16 km/hour, what distance would he travel on foot?
(A)20 km (B)30 km.—— (C) 48 km (D) 60 km

/ L T
The expenses of a country fg;’ﬁ,phﬁ:i‘;’hla;&gm_rjﬁ given in a PIE chart. Read the PIE chart and answer the
questions from 98 to 100 ﬁﬂf. \

1 ::- I e ..I.Lﬂ Ia::'--...ll: .
e 4 :

98. The percent of less money spent on Non-Plan than that on defence is
(A) 15% (B) 12%

{C) 5% (D) 10%
98.  The percent of excess maney spent on others than that on sports is
(A) 26% (B) 25% (C) 27% (D) 28%

100. If the total amount spent by the government during the year was Rs, 1
Spent on defence and education together was .

(A) Rs. 30000 crores
(C) Rs: 25000 crores

00000 crore, then the amount

(B) Rs. 15000 crores
(D) Rs. 20000 crores

14 P-MBA




